ChemMatters Puzzle: Family Reunions
The world of chemistry has a rich vocabulary that lends itself to anagrams. This puzzle explores this...with a twist. We provide 27 ordinary words. For each word, your goal is to remove one letter and then then rearrange the remaining letters to form a chemical term. For example, given the two words SLATE and BEAST, one could remove the E from SLATE and unscramble the remaining four letters to form SALT; similarly, BEAST yields BASE by removing T. 

We have grouped the anagrams into 3 families. Each shares a common property or category. In the example above, both SALT and BASE are electrolytes. Can you reunite each family by determining the category for each family and by unscrambling their 9 entries? Good luck with your search!
   Family 1

        Family 2

                 Family 3
     lint
           ______              bout   ______
        gash        ________

     lodge
______
 coat    ______
        tarpon      ________

     pedal    
______             dice    ______
        flakes       ________

     tonne
______             neon  ______                    snoops     ________

     bronco
______             depth  ______                   tipper        ________

     inroad
______             thyme ______                   waiter       ________

     groans        ______
 docked ______                  breaker     ________  

     zircon*     _______ 
 dunces  _______                tongues * ________ 
  

     zircon*     _______    
 prompt *  _______ 
         swell petal   __  __ (two words)

NOTES:
1. The starting words are arranged by increasing letter count and then alphabetically.
2. An asterisk identifies a term from which TWO letters will be removed, not just one.
3. The double entry of zircon (in Family 1) is NOT a typo: Two different pairs of letters can be taken out.
4. Here are  three cryptic clues in random order about the category types: 
· counting carbons

· lab stuff

· short periodic table entries. 
5. Keep a record of the dropped letters. They will help you solve the BONUS question.

BONUS: 

Can you make the phrase “CHEMISTRY IS COOL” by using only letters from the pool of 31 letters that were dropped out? Could “CHEMMATTERS” be formed?
Answers to the ChemMatters Puzzle
      Family 1 

                 Family 2 


        Family 3

lint 
      tin


bout
      but 

gash

 gas

lodge
      gold

coat
      oct


tarpon
  
 apron
 

tonne
      neon

dice
      dec       

flakes
   
 flask
  

pedal
      lead

neon
      non

snoops
  
 spoon
 

bronco
      boron

depth
      hept

tipper
   
 pipet
 

inroad
      radon

thyme        meth

waiter
   
 water
 

groans
      argon
 
docked      dodec
 
breaker  
 beaker 

zircon*      zinc 

dunces       undec

tongues *  
 tongs  

zircon*       iron   

prompt *   prop  

swell petal       well plate

In Family 1, all the words are names of chemical elements with 5 or fewer letters. The only missing element is xenon. Note that ZIRCON hides the names of two elements, revealed when sets of different letters are removed.

Family 2 contains the systematic base names for organic compounds: meth (1) through 

dodec (12), with eth (2),  pent (5), and hex (6) missing.

Family 3 contains objects often found at a chemistry laboratory stations: micro and/or macro scale.

BONUS:

Among  the 31 discarded letters, one can find all 15 letters for “Chemistry is cool,” but not “ChemMatters.” For the word “ChemMatters,” we need two “m,” but there is only one in the set.

Dropped letters:    
· Family 1;  l, e, t, p, c, i, s, o, along with d,  r, c, and z
· Family 2; o, a, i, e, d, y, k, s, m, and t
· Family 3; h, t, e, s, r, i, r, u, along with e and s.
Note: The word “tonne” in Family 1 is a non-SI weight unit called the metric ton. It is equivalent to 2,205 pounds. 

